Parking Brake Valve - 4.03

Parking Brake Valve - 4.03

Parking Brake Valve ’ RL3526BA
RL3526AK . Ports 1, 2= M16X1.5 Parker
Ports 1,2 = M14X1.5 |
4
Application Foton 1315035300005
Cross Ref. 9617221510 Suzhou King Long  35GC2-26010
Alternative HB1203, 325017001 Repair Kits RL3526BK-9
Application lveco 101741
Repair Kits RL3526AK-9
RL3526BA01
RL3526AK01 Port 1: M16x1.5
Ports: 1,2=M14X1.5 Port 2: M16x1.5
Mounting: M6
) Cross Ref. 9617230210
Cross Ref. 9617221820 Application Scania 469271
Application Mercedes 3844307309
RL3526BA04
RL3526BK Ports 1,2=M16x1.5
Ports: 1,2=M14x1.5 Exhaust Hole: 6
Installation Hole: M6
Installation Hole Spacing: (80 £ 0.2)mm
; i
-
Application CNHTC WG9719360030/2
Application Scania 436190
Alternative HB1180, 9617221500
Repair Kits RL3526BK-9
RL3526BA07
’ RL3526BK-B Ports 1,2=M16x1.5
Ports 1, 2 thread: M14x1.5
Installation hole thread: M8
¥
- Cross Ref. 9617230040
Application DAF 1505331
Ref. 17221
Cross Re 9617221600 Volvo 6702610
Application DAF 0664867

Pictures And/or OEM Part Numbers are for reference purpose only. 93



Parking Brake Valve

Cross Ref.
Application

Application

Parking Brake Valve - 4.03

Parking Brake Valve - 4.03

}

RL3526BKO01

Ports 1, 2: M14x1.5-6H
Installation hole: 2xM6-6H
Parking position: 73°

RL3526BA03
Ports 1,2: M16x1.5
9617230380
Foton 1315035300005
DWCV 3454402520
RL3526BA10

Ports Thread 2xM16x1.5
Installation Hole Thread: M6

Kamaz

L 3
h\

==

L

Cross Ref.
Application

] RL3526BA14

Ports 1, 2 Thread: M16x1.5
Installation Hole: M6, DC Max 24V

9617230640
Kamaz

Cross Ref.
Application

Repair Kits

RL3526BB

Ports: 1, 2=M16x1.5 Parker

9617230010

DAF 0371274
lveco 500002949
MAN M225975
RL3526BB-9

Cross Ref. 8845021050
Application Foton
RL3526BA02
Inlet Port 11: M18x1.5-6g
Outlet Port 21: M18x1.5-6g
Installation Plate Hole: M6
Parking Positioin: 73°
Cross Ref. 13062353M0055
Application Foton Rowor 1I
Foton Rowor III -140
Foton Rowor T
Foton Rowor I[ -190
RL3526BA09
Port 1: ¢10
Port 21: $10
Cross Ref. 3508915-240
Application FAW
] RL3526BA08
Ports 1,2=M16x1.5
Installation Hole: M6
% I Installation Hole Spacing: 80mm
Cross Ref. XMQ6112E2-3526010
Application XiaMen King Long

94

Pictures And/or OEM Part Numbers are for reference purpose only.



® Parking Brake Valve - 4.03
S@RL :
‘\1')'

Parking Brake Valve - 4.03

Parking Brake Valve RL3526CK03
RL3526BA13 Ports 11,12: M14x1.5
Ports 1, 2: M16x1.5 Ports 21,23: M14x1.5
. Mounting: M8x1.25
Installation hole: 2xM6 Parking Position: 73°
w Parking position 73 ° 9 '
Cross Ref. 3506900LE 170 Cross Ref. 9617222840
Application JAC LCV I Application Mercedes 3644307181
| RL3526BM

Inlet Port 1: NPT3/8
Outlet Port 2: NPT3/8 RL3526CKO04
Installation Plate Hole: ®7
Parking Position: 85°

Ports 11, 21: M14x1.5-6H
Installation hole: 2xM8x1.25-6H

Cross Ref. 13053357X0007
Application Foton Rowor P140
] RL3526CK
Cross Ref. 9617222750
Ports 11,21,22: M14x1.5 Application Mercedes 0024302481
DAF
3 ’ RL3526CK06
Cross Ref. 9617222520 Ports 11,21,22=M14x1.5
. Exhaust Hole: ©8.5
Alternative HB1201, 328019001 Installation Hole: M8
Application Iveco 228235 Installation Hole Spacing: (40 + 0.15)mm
DAF 374642
Mercedes 0014300281
Repair Kits RL3526CK-9
’ RL3526CK02 Cross Ref. 9617223150
Ports 11,21,22=M14x1.5 Application Mercedes 3884307709

Exhaust Hole: ®8.5
Installation Hole: M8
5 Installation Hole Spacing: 40mm

] RL3526CK37

Ports 11, 21, 22: M14x1.5-6H
Installation Hole: 2xM6-6H

k|

’ RL3526CKO05 Installation Hole Spacing: 80mm
Parking Position 85 °
Ports 1,21,22: M14x1.5
Cross Ref. 9617223050
Application NATO
Cross Ref. 9617223140 Volvo 1598586
Application Scania 390286

Pictures And/or OEM Part Numbers are for reference purpose only. 95



Parking Brake Valve - 4.03

Parking Brake Valve - 4.03

Parking Brake Valve RL3526DC
RL3526CK116 Ports 11,21,22=M16x1.5
Installation Hole: M6
Ports 11,21: M14x1.5 Installation Hole Spacing: 80mm
0l Cross Ref. 9617231020
Cross Ref. 961 722 264 0 Application DAF 1518234
Iveco 980942
Application Daimler Chrysler AG MAN 99100360455
RVI Trucks SAS RVI 5010056094
RL3526RA
Ports: Slide Lock RL3526DC05
Ports 1, 21, 22: M16x1.5-6H
1 Installation hole: 2xd7
Parking position 73°
Cross Ref. 9617222120
Alternative HB1173 Cross Ref. 9617232130
Application DAF 1518221 Application DAF 1505339
Mercedes 0004309581
Repair Kits RL3526RA-9
RL3526RB ] RL3526DC06
Ports: Slide Lock Ports 1, 21, 22 thread: M16x1.5
Installation hole: M6
Cross Ref. 9617222320 Cross Ref. 9617231570
Alternative HB1168 Application KAMAZ
Application DAF 1524289
Mercedes 0004309681
Repair Kits 3526 010 001 9-1
Ports 11,21,22: M14x1.5 Ports: 1,21,22 M16x1.5
Cross Ref. 9617222580 Application FAW
Alternative HB1179
Application MAN 112232900
lveco 4841086
Repair Kits RL3526EK-9

926 Pictures And/or OEM Part Numbers are for reference purpose only.



Parking Brake Valve - 4.03

® Parking Brake Valve - 4.03
S@RL :
‘\1')'

Parking Brake Valve RL3526DX07

RL3526DE Break 73 Voss Push In Fitting
Ports 1,21,22: All M16x1.5
Cross Ref. 9617231000
Application FAW 3508815-Q109C Application DAF 1518233
MAN 81523156113
NATO 2530123122719
RL3526DX
RL3526DX03
Ports 1, 21, 22: M16x1.5 Parker
Port 1,21,22: M16x1.5
Alternative HB1500
o Cross Ref. 9617231110
Application I?/I/:T\I 81523156113 Application DAF 1518236
MAN 85500014558
Repair Kits RL3526DX-9
RL3526DX06
RL3526DY Ports: 1,21,22 M16x1.5
Ports 1, 21, 22: M16x1.5 Parker
=
Cross Ref. 9617232080
Cross Ref, 9617231080 Application DAF 1519269
Applicati DAF 17 lveco 5010145720
pplication 05598 RVI 5010145720
Repair Kits RL3526DY-9
RL3526DX08
Ports thread 3xM16x1.5
RL3526DX05 Installation hole thread: M6

Port1: M16x1.5
Port21: M16x1.5
Port22: M16x1.5
Mounting: M6

Application Kamaz

Pictures And/or OEM Part Numbers are for reference purpose only. 97



Parking Brake Valve

Parking Brake Valve - 4.03

Parking Brake Valve - 4.03

] RL3526NA38

Ports 1, 21: M16x1.5-6H
Installation hole: 2xM8-6H
Trailer position 73°

RL3526NA
\ Ports: 2xM16x1.5 Voss
Cross Ref. 9617230190
Application DAF 1524310
MAN 81523155160
Repair Kits RL3526NA-9
] RL3526NB
h Ports: 3xM16x1.5 VVoss
=3,
Cross Ref. 9617231040
Alternative HB1510
Application DAF 1518235
Mercedes 0024307581
Repair Kits RL3526NB-9
] RL3526NA-B
Port1: M16x1.5 Voss
Port21: M16x1.5 Voss
Mounting: M8
-
el
Cross Ref. 9617230050
Alternative HB1511
Application DAF 1518229
Mercedes 0024307481
’ RL3526NA-C
\ Ports: 3xM16x1.5
Cross Ref. 14096353X0002
Application Foton
MAN 81523156156

Cross Ref. 9617234210
Application Mercedes 0034305981
NATO
RL3526NE
Ports: 2xM16x1.5 Parker
Comment: With Warning Light Switch
Cross Ref. DPM94 AAX
Application DAF 1505334
lveco 8137037
Repair Kits RL3526NE-9
RL3526NE-A
Ports: 3xM16x1.5
Cross Ref. DPM95 AAX
Alternative 9617231170
Application DAF 1524294
lveco 41002766
RL3526XD01
All ports hole: 6x®10
Installation hole: ®7
Cross Ref. DPM64MP
Application Mercedes
RL3526NE-B

Cross Ref.
Application

Ports 1, 21, 22 thread: M16x1.5
Installation hole: M8x1

DPM28A
Iveco SPR1
RVI 5010422400

98

Pictures And/or OEM Part Numbers are for reference purpose only.



® Parking Brake Valve - 4.03
S®RL :

L Parking Brake Valve - 4.03

Parking Brake Valve RL3526PA
RL3526VA Ports: All M14x1.5
Ports 1, 2: M14X1.5 “
Cross Ref. 9617011000
Alternative HB1132, 328009111
Cross Ref. 9617210000 Application Scania 400555
Application DAF 1524300 MAN 11026510099
MAN 81523156068 Iveco 1373808
81523156054 Repair Kits RL3526PA-9
Mercedes 0004307881
Repair Kits RL3526VA-9 L P Ay
All Ports: M14x1.5
RL3526VB
Ports 1, 2=M12x1.5
Exhaust Hole: ®8
Installation Hole: M6
Installation Hole Spacing: (39 £ 0.2)mm Cross Ref. 9617011050
Alternative HB1132, 328011011
Application Scania 400555
MAN 11026530099
Cross Ref. 9617210040 Iveco 2498634
Application DAF 1506443 Repair Kits RL3526PD-9
Ford 86015528
MAN 81523156165
RVI 5000544905 All Ports: M14x1.5
Scania 405673 Comment: Right Hand
Volvo 4822431
RL3526WA01
Ports 1, 2=M12x1.5 Cross Ref. 9617020010
Exhaust Hole: ©8 Alternative HB1122 328012011
Installation hole: M6
Installation hole spacing: (39 0.2)mm Application DAF 0176628
lveco 42017083
Volvo 1509055
Repair Kits RL3526PB-9
Cross Ref. 9617100560
Application American Truck RL3526PC
All Ports: M14x1.5
RL3526WA02 Comment: Right Hand
Ports 1, 2: M14x1.5-6H
Installation hole: 2xM6-6H
Cross Ref. 9617020040
Alternative 328012031
Application DAF 0360774
Cross Ref. 9617100540 Mercedes 0004308581
Application Foton Neoplan 1102656544010
Repair Kits RL3526PC-9

Pictures And/or OEM Part Numbers are for reference purpose only. 99



Parking Brake Valve - 4.03

Parking Brake Valve - 4.03

Parking Brake Valve RL3526XA02
RL3526XB01 Ports A, V: M16x1.5-6H
Ports: 3xM16x1.5-6H Port E thread: 8.5mm
Installation hole: 4x®9/2x®6.5
Parking position 73°
Cross Ref. 8845019220
Cross Ref. 9617231220 Application Foton
Application DAF
Scania 1324425
RL3526WL01
RL3526XB03 Ports 11,21,22: M14x1.5
Ports 1, 21, 22: M16x1.5-6H Mounting: M6
Installation hole: ®9, ©6.5
Parking position 73°
Cross Ref. HB1219
Cross Ref. 9617232170 Alternative 9617222690
Application DAF 1506757 Application RVI 5000716328
Scania 1408332
RL3526XC01
All Ports: M16x1.5
Installation hole: 2xM8 RL3526QL01
Parking position 73°
Ports 1,2: M14x1.5
Mounting: M6
r...,:.‘
Cross Ref. 9617231250
Application DAF 1519266
Mercedes 0034307381 Cross Ref. HB1242
RL3526XA01 RL3526QL02
Ports 1,2,3: M12x1.5 Ports 1,2: M14x1.5
Mounting: M6
Application Foton Cross Ref. HB1142
Alternative 9617210020
Application Volvo FL6 6876922
100 Pictures And/or OEM Part Numbers are for reference purpose only.




A, ® Parking Brake Valve - 4.03
Anmbd I
S Parking Brake Valve - 4.03

Yy

Parking Brake Valve RL3526FA
RL3526YLO1 Ports: 1/4’NPT
Inlet: Connection For Plastic Tube ®10mm !
Delivery: Connection For Plastic Tube ®15mm i
Cross Ref. APSA5890
Cross Ref. M304950 Alternative 961710133 0
Application Truck Application Mercedes
Repair Kits RL3526FA-9
RL3526YL02
Inlet: M18x1.5
Delivery: M22x1.5
Aux Delivery: M12X1.5 L4
ﬁ1 Ports: 1/4" NPT RL3526LE
Cross Ref. M303751
Application Truck
Application Japanese
Repair Kits RL3526LB-9
RL3526XE01
Ports: 3xNPT 1/4
RL3526KA
\ Ports: 1/4” NPT
Cross Ref. K001726
Application Volkswagen
Cross Ref. 5900G
Application Truck
Trailer Brake Hand Control Valve 4.03 RL3526TA
RL3526LA Ports: 1/4’NPT
Ports: 1/4” NPT /b
Cross Ref. 276270
Repair Kits RL3526LA-9 Application American Truck
Repair Kits RL3526TA-9

Pictures And/or OEM Part Numbers are for reference purpose only. 101



